BOSCH

Circular hand saw
GKS 130 | 3601 FC3 080

Table of Content

o LR o T U £ 3 1] S PP PPPPPPPPRN 2
LTS =T T 7] o 1=V SRS URUPRN 4
Subject to technical alterations. No liability is accepted for printing errors |3 October 2023 Robert Bosch Power Tools GmbH

Max-Lang-Strasse 40-46
DE-70771 Leinfelden-Echterdingen
https://www.boschtoolservice.com



[ EEEE——— [
Circular hand saw | GKS 130 | 3 601 FC3 080

Spare parts list

Item Part Number Description
2 1619 PB9 410 Field
3 1619 PB9 415 Armature
4 1619 PB9 396 Switch
5 1619 PCO 613 Power supply cord
6 1619 PB9 393 Grommet
7 1619 PB9 400 Cable Clip
11 1619 PB9 406 Insulating Cap
12 1619 PB9 395 Suppression Filter
13 1619 PB9 414 Ball Bearing 608
14 1619 PB9 418 Ball Bearing 6000RS
19 1619 PCO 002 Screw Screw ST 4X16
22 1619 PB9 398 Compression Spring
24 1619 PB9 412 Baffle
25 1619 PB9 401 Handle
26 1619 PB9 394 Handle
27 1619 PB9 413 Rubber Ring
29 1619 PB9 411 Screw 4x50
38 1619 PB9 417 Guide Bracket
39 1619 PB9 416 Compression Spring
46 1619 PB9 424 Shaft
47 1619 PB9 420 Plain bearing
48 1619 PB9 426 Ball Bearing 6001
49 1619 PB9 423 Cylindrical Gear
50 1619 PB9 434 Inner Disc
51 1619 PB9 436 Locking Washer
52 1619 PB9 437 Screw M8x12
53 1619 PB9 427 Bearing Flange
55 1619 PB9 425 Retaining ring f28
58 1619 PB9 430 Lower guard
59 1619 PB9 431 Lever
60 1619 PB9 429 Spiral Spring
61 1619 PB9 432 Locking Washer
63 1619 PCO 249 Flange Bushing
67 1619 PB9 450 Slotted Spring Pin
70 1619 PB9 399 O-Ring



Circular hand saw | GKS 130 | 3 601 FC3 080

Spare parts list

Item Part Number Description I
72 1619 PB9 421 Bumper
75 1619 PB9 448 Wing Nut
76 1619 PB9 440 Retaining ring f9
77 1619 PB9 441 Washer
78 1619 PB9 446 Round-Head Bolt
79 1619 PB9 397 Switch Button
80 1619 PB9 438 Lever
82 1619 PB9 439 Adjusting Nut
85 1619 PB9 447 Wing Screw
87 1619 PB9 443 Screw
91 1619 PB9 403 Screw 4x16
92 1619 PB9 404 Screw M5x45
93 1619 PB9 405 Screw M5x35
94 1619 PB9 422 Screw M6x25
95 1619 PB9 428 Screw M5x16
96 1619 PB9 433 Screw M4x10
651 1619 PB9 402 Offset Screwdriver
652 1619 PB9 435 Circular Saw Blade
653 1619 PB9 451 Guide
654 1619 P06 204 Vacuum Adapter
801 1619 PCO 311 Motor Housing
808 1619 PCO 470 Nameplate
810 1619 PCO 313 Carbon-Brush Set
861 1619 PCO 314 Base Plate
866 1619 PCO 315 Upper guard

867

1605 430 003

Grease Tube 225 ML



Circular hand saw | GKS 130 | 3 601 FC3 080 4

lllustration - Type - E

3601 FC3 080
Isstgﬂs %—10 ’\O_soa 92(2!}
654
| )
Py @ag\\?\ %
s @ _ 3

Pos.7,19

Anzugsmomente
Torque values
Couple de serrage
Pares de apriete
Pos19=14-18Nm
20=28-32Nm
52 =8,0- 10,0 Nm
91=14-18Nm

= 92=3,0-40Nm
93=3,0-40Nm
867 94 =0,6-1,2 Nm Modffications reserved
- 95 = 3’0 - 4.0 Nm an%gﬂ!lunﬁen \mrbéeh:llan
= B adifications resérvées
96=1,0-1,6Nm Salvo modificaciones
Subject to technical alterations. No liability is accepted for printing errors |3 October 2023 Robert Bosch Power Tools GmbH

Max-Lang-Strasse 40-46
DE-70771 Leinfelden-Echterdingen
https://www.boschtoolservice.com



